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Bl/K & PE (JWWAR %) ¢ 100mm L=137.4m

BR/K & PE (JWWAB#S) ¢ 150mm L=0.5m
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4 i FiZE N MR 5 g B = HAL| K =
1 BKEEM
PE(JWWABUE)S D ATEAE ¢ 100X 5m
26%5 130.00 26 A
B m
3.2+1.5 4.70 IS
o m
134.70 134.7
B m
PE(WWA}IF&) 1.=0.556 2 2.00 2
EFF S~ VN $ 100 90° &
PE(JWWA}IF&) 1.=0.389 1 1.00 1
EFF S~ VN $ 100 221/2° &
PE(JWWA}IF&) 1.=0.895 1 1.00 1
EFF ) 7M =Ml ¢ 100 AR ]
PE(JWWAHI#) L=0.249( ¢ 100) 1 1.00 1
AH=HNF— R $ 150X ¢ 100 (]
PE(WWA}IF&) 1.=0.043 1 1.00 1
AVAZEP ¢ 100 &
134.7+2%0.556+1%0.389+130.895+1%0.249+10.043 137.388 137.4
PE(JWWAHBIH) ¢ 100 FRIER m
134.7+2%0.556+1%0.389+10.895+10.249+1%0.043-1:0.250 137.138 137.1
PE(WWABIE) ¢ 100 fAkIER m
PE(JWWAHI#%) L.=0.474( ¢ 150) 1 1.00 1
AR =T NTF—X ¢ 150X ¢ 100 &
0.474 0.474 0.5
PE(JWWAHBIH) ¢ 150 FRIER m
0.474 0.474 0.5
PE(JWWABIA) ¢ 150 TiikiER m
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vV as - S TR Gl &
fE) DA FVJ-B(100) =
VA - (R ATRL A% 5L DL &
fE) DA FVJ-B(300) =
VA - (R ARL )% 5L DL &
fEEIFED A FVJ-C2(300) 1 = 1.00 1
VA - (R ATRL [E) % 5L DL &
BRI A THPA(EERKR) 1 = 1.00 1
Ly vay )= R ARL RS DL 1®
ELRFRNA JV1B-10MCN1 -
B b2 RS DL il
ERFRNPA KNVJ—A (200) =
Vtvay - b2 RS DL 1
ZERIFR DN KNVJ—B(100) =
Ly vay )= R ARL A% DL {i&
ZERIRR DN KNVJ—C2(300) =
VY vay )= R ARL RS DL {i&
BRI RD N KNVJ—D (JEHR) =
VA - (R ATRL A% 5L DL &
ART — 7 BB EEDD = 67.11 67.1

R W=50 m

/KB H 137.138+0.474 = 137.612 137.6
HERS —] W=400 47" m
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PEAiF% T 137.138 = 137.14 137.1
¢ 100 m
EFf¢FE6 T 10 31 = 31.00 31
¢ 100 (53
PEAI= VT T 3 = 3.00 3
$ 100 N
VPYIHT. 2 = 2.00 2
$ 100 N
PEAI= VT T 2 = 2.00 2
® 150 N
PEYIHr T. 2 = 2.00 2
¢ 150 A
DCIPY)r T. 1 = 1.00 1
& 75 (BT BANVERSEAE) H
FERR K T T 1 = 1.00 1
& 15 (BT AAVEREIAE) =}
DCIPY) T T. 1 = 1.00 1
¢ 150 (B 7 A4 VEFERE) A
FERR AR T T 1 = 1.00 1
¢ 150 (B 7 A4 VEFERE) ]

() LEIFREGET 1 = 1.00 1
¢ 100 bk ) P
PAUAAERE T 1 = 1.00 1
CI15 &P
Vyvavy) MRy AR E T 2 = 2.00 2
MBS L phimBE, Btk &P
Vyvavy) bRy AR E T 1 = 1.00 1
Mm2E THieE &P
EIRT—7 T 137.138 = 137.14 137.1
$ 100 FVTFVVE m
EHRT—7 T 0.474 = 0.47 0.5
$ 150 FVTFVVE m
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PE ¢ 100(EE117 5 Erk) L=44.863m, PE ¢ 100(fi & L4 FFANE2 58 L=137.388-44.683=92.525m, PE ¢ 150
1=0.474m, KAVE RN i TER(DCIP ¢ 75 1.=1.0m, DCIP ¢ 150 1.=1.0m)
4 fekEET
(137.388%1.075%0.60)+(0.474%1.130%0.60)+(1.0%1.043%0.60)+(1.0%1.119%0.60) = 90.23 90
TR I m3
(137.388% (0.325%0.60-0.125"2% 7 /4)) +(0.474*(0.380+0.60-0.180 "2+ = _ 95,57 30
/D)+(1.0%(0.293%0.60-0.093 " 2% 1t /4))+(1.0%(0.369%0.60-0.169 " 2% 7 /4)) :
D R Vel m3
(92.525%0.650%0.60)+(44.863%0.770%0.60)+(0.474%0.60%0.60)+(1.0%0.650%0.60)+(1.0%0.60%0.60) = 57.73 60
EREAN LR RC-40 m3
SDELaE 90.23 = 90.23 90
FE AR e MR : L=1.3km m3
DA E 90.23 - 90.23 90
P45y m3
(137.388+0.474+1.0+1.0)%2 = 279.72 280
EHAERR BT T t=5cm m
(137.388+0.474+1.0+1.0)*0.60 = 83.92 84
AT AR EUE L t=5cm m2
A A th AL ERAERS | ((92.525+0.474+1.0+1.0)%0.60%0.05)+(44.863%0.600.03) = 3.66 4
T AT 7 L NEE TEHE PR 1.=6.0km m3
R A T R ALEE RS | ((92.525+0.474+1.0+1.0)%0.60%0.05%2. 3)+(44.863%0.60%0.03%2.3) = 8.41 8
T AT 7 IV RERALSS m
B M25 (92.525+1.0)%0.60 = 56.1 56
FEgET t=10cm m2
RIFEATMA0 (0.474+1.0)%0.60 T A HE R s e = 0.9 1
FERET t=15cm m2
TR ML As20 (92.525+0.474+1.0+1.0)*0.60 = 57.0 57
xET t=>5cm m2
B AR EAs13 44.863%0.60 [EE117 5 = 26.9 27
xET t=3cm m2
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6.3%1.010%0.6 3.82 4

B m3
6.3%0.26%0.6 0.98 1.0

RS R Velend m3
6.3%0.650%0.6 2.46 2

A P e R RC-40 m3
5 DEEMPE 3.82 3.82 4

B - E R TR AR : L=4.0km m3
5 DEEMPE 3.82 3.82 4

gy m3
6.3%2 12.60 13

SEEERR DM T t=5cm m
6.3%0.60 3.78 4

AT AR EUE L t=5cm m2
(R K FEAE T LB | 6.3%0.60%0.05 0.19 0.2

T AT 7V N E TEEEEE  1.=6.4km m3
(R FEAE T HVALER R | 6.3%0.60%0.05%2.3 0.43 0.4

T AT 7 VR ALy t
RIFHREAM25 6.3%0.60 3.8 4

FEgET t=10cm m2
AR As20 6.3%0.60 3.8 4

FET t=>5cm m2
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